Chapter 7 Review Name /@\ - Hour

Honors Calculus

L.

2.

For 0 < 1 < 6, a particle is moving along the x-axis. The particle’s position, x(r), is not explicitly given.

The velocity of the particle is given by v() = 2sin (e‘/ 4) + 1. The acceleration of the particle is given by

a(t) —-— cos( ‘/4) and x(0) = 2.

(a) Is the speed of the particle increasing or decreasing at time 7 = 5.5 7 Give a reason for your answer.
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(b) Find the average velocity of the particle fori/\the time period 0 <t £ 6. P g”f,é
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(¢) Find the t fal distance traveled by the particle from time # = 0 t0 ¢ = §mm""""""

(d) For O <t <6, the particle changes direction exactly once. Find the position of the particle’at that time.,
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The maximum velocity attained on the interval 0<t< 5 by the particle whose displacement is given by

s(t)=2t>-126* + 16t +2 is
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Find the area of the region between the two curves in each problem, and be sure to sketch ea
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The base of a solid S is the fegion enclosed by the graph of /]( 9.
y = VIn(x — 1), the line x = 2e, and the x-axis. If the cross sections
of S perpendicular to the x-axis are squares, then th volume of S is
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(A) 1.587. (B) 2.173.
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9. A region in the first quadrant is enclosed by the graphs of y = =¢%*, x =1, and the coordinate axes. .
If the region is rotated about the y-axis, the volume of the sohd that is generated is represented b .
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Calculate the volumes below.

10. Find the volume of the solid that re en the region bounded by y=+9~x? and the
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11.  Find the volume of the solid that results when the region4 bounded by y = sec x and the x-axis
from x=—= to x =" is revolved around the x-axis. Ojﬁg
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12. Find the volume of the solid that results when the region bounded by x= 1 y and the y—sz/ )}9




